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FIGURE  OUTit

Thirty-two people enter a Ping-Pong 
tournament. When a person loses a 
game, he or she is eliminated from 
the contest. How many games 
must be played to figure out who is 
the best Ping-Pong player?

At a fire scene, a fireman stood on the 
middle step of a ladder to shoot water 
onto the flames. When the smoke 
cleared, he went up three steps. 
A sudden burst of flames forced 
him to go down five steps. A few 
minutes later, he climbed up seven 
steps and worked there until the 
fire was out. Then he climbed the 
seven remaining steps and entered 
the building. How many steps does 
the ladder have?

A rancher has 48 meters of fencing to 
build a corral for his cows. Since his 
property is bordered by a river, 
what is the biggest rectangular area 
he can fence if he uses the river as 
one side of the corral?

At a party attended by 12 friends, the 
activities begin with every person 
shaking every other person’s hand 
once (and only once). How many 
handshakes take place?

Osgood Smart glued together 125 small 
cubes to make one big solid cube, 
then he painted all six sides of the big 
cube bright red. Later on, he broke 
the big cube back into small cubes 
and found that some cubes had three 
sides painted, some cubes had two 
sided painted, some cubes had one 
side painted, and some cubes had no 
paint on them at all. How many of 
each color variation did he have?

A 200-pound man and his two daughters 
(each of whom weigh 100 pounds) 
are standing on the bank of a river 
teeming with piranhas. They want 
to get to the other side, but their 
canoe can hold no more than 200 
pounds. How can they get across?

A giant hero sandwich has been created 
that is 30 feet long. It has been 
divided into four parts so that each 
part is one foot longer than the 
previous one. What are the lengths 
of the four pieces?

If you have chocolate, strawberry, and 
vanilla ice cream, how many different 
double-dip cones can you make? 
Remember, some people like to 
eat their strawberry before they eat 
their chocolate, and some like it 
the other way around.

If a state’s license plates consist of 
one digit followed by three letters, 
followed by three digits—such as 
1ABC123—how many unique 
license plates can be issued?

How many different shapes, not count-
ing reflections or rotations, can 
be cut from 
a 3-inch by 
3-inch grid 
if cutting is 
allowed on the 
grid lines only?

A few math 
challenges 

for your 
family
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